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10.

Instructions for the Candidates e

1. Write your roll number in the space provided on the top of this page. :

2. This paper consists of seventy five multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

® 6 @0

where (C) is the correct response.

(ii)

Example :

Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.
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MANAGEMENT
PAPER -1l

Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Authority is the Right to
A) Decide what to be done

(A)

(B) Decide to do it
(C) Delegate others to do it
(D)

D) (A), (B) and (C)

2. Job Design is influenced by
(A) Proven values of specialisation

(B) Changing technologies and abilities
of personnel
(C) Availability of employees and

labour union polities

(D) (A), (B)and (C)

3. Who developed the concept that
tension between worker’s ‘logic of
sentiment’ and manager’s ‘logic of
cost and efficiency’ could lead to
conflict within the organization ?

A) Herbert Simon

B) Chester Barnard

(
(
(C) Elton Mayo
(

D) Fredrick W. Taylor

K-1014 (3)

4. Consider the following statements :

1) Much of current knowledge of
selection techniques, employee
training and work design is built on
the work of Hugo Munsterberg.

2) Hugo Munsterberg combined
scientific management and
industrial psychology in his work.

Which of the statements given above is/
are correct ?

(A) Only 1

Only 2

Neither 1 nor 2
Both 1 and 2

(B
(C
(D

vvvv

5. Job Analysis consists of studying and
gathering information
1) Relating to the employee of a
specific job
2) Relating to the operations of a
specific job
3) Relating to the supervisor of a
specific job
4) Relating to the responsibilities of a
specific job
(A) All of the above
(B) 1,2 and 3 only
(C
(

D

1,2 and 4 only

~— S S

2 and 4 only
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6. ldentify the two off the job training

methods.
1) Coaching
2) Vestibule training
3) Committee assignments
4) Programmed instruction
(A) 1 and 2 only
(B) 2 and 3 only
(C) 2and 4 only
(D) 3 and 4 only

7. Assertion (A): Trainings in organizations

to develop leadership qualities among
employees is not being accepted easily
by the public sector organizations in
India.

Reasoning (R): Irrespective of revamping
of the public sector systems in India,
Leadership training generates leadership
skills among employees.

(A) (A)and (R) are true
(B) (A) is false and (R) is true
(C) (A)istrue and (R) is false
(D) (A) and (R) are false

. Assertion (A) : Industrial safety ensures
safety of employees across organizations
in India by stipulating them to adhere to
safety and health standards.

Reasoning (R) : Rise in loss of life and
limbs of employees involved in industrial
accidents are a cause of concern to the
state and central government.

(A) (A)istrue and (R) is false
(B) (A) is false and (R) is true
(C) (A) and (R) are true
(D) (A) and (R) are false

9. Assertion (A) :

10.

11.

Total Number of Pages : 32

Legal provisions for
abolishing child labour is proclaimed to
be highly effective by the policy makers.

Reasoning (R) : High incidence of child
labour in unorganized sectors like Hotel,
Tourism etc. indicate a low impact child
labour laws.

(A) (A)and (R) are false
(B) (A)and (R) are true
(C) (A)istrue and (R) is false
(D) (A) is false and (R) is true

Assertion (A) : Strict disciplinary
procedures of the organizations are
attributed for the success in reducing the
employee grievances.

Reasoning (R) : Low level of grievances
in majority of the modern organizations
indicate success of disciplinary
procedures.

(A) (A)istrue and (R) is false
(B) (A) is false and (R) is true
(C) (A) and (R) are true
(D) (A) and (R) are false

Arrange the following needs of Maslow’s
theory in its original sequence.
1) Safety or security needs
2) Esteem needs
3) Physiological or basic needs
4) Self-actualization
5) Socialization needs
(A) 3,1,5,4and 2
(B) 3,4,1,5and 2
(C) 2,1,5,4and 3
(D) 2,4,5,1and 3
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12. Arrange the process of training in its
original form.

1) Search external training facilities.

2) Develop in-house training strategy
including pre and post-training.

3) Evaluate training efforts.

4) Prepare training packages and
modules.

5) Assessing training needs of
employees.

6) Organize specific and general
programmes with internal and

external resources.
(A) 4,5,3,1,6and 2
(B) 1,5,4,3,2and 6
(C) 5,1,6,4,3and 2
(D) 5,1,2,4,6and 3

13. Arrange the following steps in
establishing a career development
system in their sequence.

1
2
3

Results
Needs

Vision

(A) 2,3,1and 4
(B
(C
(D

)
)
)

4) Action plan
)
) 2,3,4and 1
) 2,4,3and 1
) 2,1,4and 3

K-1014
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14. Arrange the actions of Critical Attribute
analysis in sequence.

1) Develop indicators for the attributes
and appropriate methods to assess
and measure them.

2) Determine and list managerial and
other skills required for each job.

3) Determine and list the technical
skills required for each job.

4) Determine and list the behavioural
skills required for each job.

4,3,1and 2
3,4,1and 2
3,1,4and 2
3,4,2and 1

(A
(B
(C
(D

~— N N

15. Match the following :
1) Graphic rating a) Employee

scales appraisal by a
group of
appraisers

2) Paired b) Traditional
comparison method where
method employee is

appraised by his
Superior

3) Group c) Compare individual

Appraisal performance to an

absolute standard
4) Confidential d) Comparison of

reports one employee with
all other employees
Code :

1 2 3 4
(A) c d b a
B) c b d a
C) c a b d
(D) c¢ d a b
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16. Match the following :

A B
1) Intelligence a) Ability to do a job
test perfectly
2) Emotional b) Measure capacities
Quotient of perceptual speed

and knowledge of
mechanical matters
Measure manual
dexterity, motor
ability and eye-hand
coordination
Measure specific
aptitude required for
office work

5) Psychomotor e) Measure

3) Skill tests )

4) Mechanical d)
aptitude

tests Intelligence Quotient
6) Clerical f) Measure Emotional
aptitude tests  Quotient
Code :
1 2 3 4 5 6
(A) e f b c d a
B) e b f c a d
(C) e c b f a d
(D) e f a b c d
17. Match the following :
1) Job a) Administering and

evaluation reviewing the schemes

of financial incentives.

2) Wage and b) Payment of statutory
salary Bonus according to
administration  Bonus Act, 1965.

3) Incentives c¢) Wide variety of

supplementary benefits.

4) Bonus d) Process of determining
relative worth of jobs.
5) Fringe e) Developing and
Benefits operating a suitable wage
and salary programme.
Code :
1 2 3 4 5
(A) d a e b c
B) d e a b c
) d b e a c
(D) b d e a c
K-1014
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Direction : Read the para given below and
answer the question number 18 and 19.

The major objective of position rotation
development is that of broadening the
background of the trainee in the business.
On-the-job experience, coaching and
understudying are narrow, in the sense that the
trainee acquires skill and knowledge in the one
job. If the trainee is rotated periodically from one
job to another, he or she acquires a general
background. In a planned rotation program, the
job switches are made in periods of from 6 months
to a year. In the Proctor and Gamble Company,
for example, a trainee may enter a department
as an assistant supervisor. Gradually, the
assistant learns the supervisor’s job, function by
function. Over a period of time, the supervisor is
trained outof a job by transferring the duties, one
by one, to the assistant supervisor. The original
supervisor is them rotated to another department
as an assistant and will there undergo a similar
process.

18. What is the major objective of position
rotation development ?

(A) Broadening the foreground of the
trainee

(B) Broadening the canvas of the
trainee

(C) Broadening the background of the
trainee

(D) Broadening the experience of the
trainee

19. The job switches are made in periods
of from 6 months to a year under

(A) Unplanned Rotation Programme
(B) Planned Rotation Programme
(C) Precise Rotation Programme
(D) Proposed Rotation Programme
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20. The market place is physical, such as a
store you shop in, the market space is

digital, as where you shop on
(A) Internet
(B) Intranet

(C) Fishing Net

(D) Sports Net

21. A is an offering from a
known source.

(A) Brand

(B) T.V.

(C) Refrigerator

(D)

D

Automobile

22. Arrange Product levels in order :
[) Core benefit, basic product
[I) Expected Product, Augment
Product

lIl) Potential Product

)
IV) Branded Product
(A) I lland IV are true
(B) I, llland IV are true
(C) I, land Ill are correct
(D) I, IV and Il are correct

is a simple way to engage in

International marketing.
(A) Joint Venture

B

23.

Direct Investment

Total Number of Pages : 32

24. When one division charges another
division in the same company, that
pricing is known as

(A) Arm’s length price
(B) Cost price
(C) Transfer price
(D) Market price

25. Product Invention has two forms, they are
i) Backward Invention
ii) Forward Invention

iii) Vertical Invention

Market Invention

)

)
iv)
(A) iandiiare correct
(B) iand iii are correct
(C) ii and iii are correct
(D) iii and iv are correct

26. Packages have three layers, in the order
[) Primary Package
II) Brand Package
lIl) Secondary Package
V) Shipping Package
A) I, lland IV are correct
)
)
)

(

(B) I, Iland Il are correct
(C) I, lland IV are correct
(D) I, llland IV are correct

27. Experience/Learning curve pricing is
[) Decline in the average cost
[1) With accumulated production
experience
[l) Without accumulated production
experience
IV) With accumulated production ideas

)
(A) land IV are correct
(B) Iland IV are correct
(C) lland | are correct
(D) land Il are correct

(B)
(C) Licensing
(D) Direct Exports
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28. Distribution channels in the marketing
system consists of

)
)
1)
V)
A)
B)
C)
D)

A~ N~ o~

Vertical Channel
Horizontal Channel
Zero Channel

Multi Channel

[, Iland Il are correct
[, Iland IV are correct
I, 1V and | are correct
I, Iland IV are correct

29. Steps in developing effective
communication are arranged in set
order. It goes like

(A)

K-1014

Identifying target audience, determine
objectives, design communications,
select channels, establish budget,
decide on media mix, measure
results, manage integrated marketing
communications.

Decide on media mix, measure results,
manage integrated marketing
communications, establish budget,
select channels, design
communications, determine
objectives, identifying target audience
Measure results, manage integrated
marketing communications, decide
on media mix, establish budget, select
channels, design communications,
determine objectives, identifying
target audience

Design communications, determine
objectives, identifying target audience,
select channels, establish budget,
decide on media mix, measure
results, manage integrated marketing
communications

(13)

Total Number of Pages : 32

30. Steps in designing the sales force are
given in a definite order. It goes as

(A)

(B)

Sales force objectives, sales force
strategy, sales force structure, sales
force size, sales force compensation

Sales force size, sales force
compensation, sales force structure,
sales force strategy, sales force
objectives

Sales force compensation, sales
force structure, sales force size,
sales force objectives, sales force
strategy

Sales force structure, sales force

strategy, sales force objectives, sales
force size, sales force compensation

31. Steps in managing the sales force are
organized in a certain order. It is as

(A)

Supervising sales representatives,
motivating sales representatives,
evaluating sales representatives,
training sales representatives,
recruiting sales representatives

Training sales representatives,
recruiting sales representatives,
supervising sales representatives,
motivating sales representatives,
evaluating sales representatives

Supervising sales representatives,
evaluating sales representatives,
motivating sales representatives,
training sales representatives,
recruiting sales representatives

Recruiting sales representatives,
training sales representatives,
supervising sales representatives,
motivating sales representatives,
evaluating sales representatives

Paper Il



Paper Il

32. 35 SISV CAPTT0 2,030 ADF T3

TWOTBITOTIO TINTEIT Tao08D
aoéﬁ%frirggfri@o@d ?

(A) wéoﬁ)@m 203 BT T, TPRE VT,
TR Y BT, TRTWIDR)TE,
@é@"‘”ﬁ%ﬁ TOTYOW, WRORORITTO
02 ARF I

(B) BRTWTORTH, SEEBEAW, TR

BB BTTFS, BE AT,
dmi'sgcdo, a’@ébeim d)@g OT/ETD
wéoﬁ)@m 203 BT T, TPRE VT,
SRORIYT 202 AR HES,
BRTLWTY T, SEETD, 0508
TODETFTD T LT T, TVTYOI, TT
WTRTH, STEBRD, RO
W0 Ve BB, TRRE DD

33. =203 (A) : CRM mams Ko2opnis 0080

a;a’mo’ AW LI R,TT faé&mfa’ag

TN 53’03’3 a?z%wd @mds—éojoebm a’o@g
mmmq rbaojodao{ TRODT.

50369(R) : CRM 820301 S0F 8 Mo 1iees

DRDTY 56305 FFTY DTS

2,

A (A

2 (R) D
22 (R) =%},
A) 2 T3 (R) 7o),

A) BNT =TT (R) =g,

B
C
D

(A) (A)
(B) (A) =
(C) (A)
(D) (A)

34.

35.

Total Number of Pages : 32
TR (A) : SRO0TY, FerS WIS MR
a‘%md@ec%ébo D00 FOREITT 0By
SROTER TFed THDWI BHA emas

BOINTT WIRBRY LTV,

598e9(R) : 4oT2E TS BoIR0T FFTOT
TE0D eI LWOBTTIY L0 eI, 0T
233 eﬁoj%ﬁeﬁsgt 5333 DT ejoi%ﬁ%ﬁs% ,
B QTIDODT RIRTHES ERTOEY,

(A) (A) =023 (R) =,

(B) (A) 32 (R) 2esands

(C) (A) 303 (R) =3,

(D) (A) =2, (R) =%,

REOBER(A) 1 STOT FRTBLID BeRaSNE)
233 PO 0o TOPLERWIBOTONT,
3O L0,
PORREPT 02) YBC 0e3NVY_

df%éés; FIOIOFLI0, 3EBLOROS,

500 (R) : 205 BRme® BoFpE3SeDd
=R 030N RRTTNTIZT.
(A) (A) 0= (R) =0
(B) (A) B0 =333 (R) =)
(C) (A) 2=, w8 (R) =
(D) (A) @23 (R) n¥CEe 3

w

€

o},@L

K-1014



K-1014

32. Major steps in effective selling are put

in the set order. That is

(A) Prospecting and Qualifying,
Preapproach, Presentation and
Demonstration, Overcoming
Objections, Closing, Follow up

and Maintenance

(B) Overcoming Objections, Presentation
and Demonstration, Preapproach,
Closing, Prospecting and Qualifying

Prospecting and Qualifying,
Preapproach, Follow up and
Maintenance, Overcoming
Objections, Closing

Prospecting and Qualifying, Closing,
Overcoming Objections, Follow up
and Maintenance, Preapproach

33. Assertion (A): CRM aims at documenting

customer history to maintain enduring
business to customer relationships and
resulting in increased enquiries and
sales.

Reasoning (R) : Contribution of CRM is

not on expected lines in Automobile

industry in terms of enhanced customer

visits.

A) Both (A) and (R) are true

B) Both (A) and (R) are false

C) (A)is true but (R) is false
) (A

(
(
(
(D) (A) is false but (R) is true

34.

35.

Total Number of Pages : 32

Assertion (A) : Market penetration
pricing is employed by the new product
manufacturer to gain entry into the market

controlled by an established marketer.

Reasoning (R) : Price options and finance
options employed by leading premium
international brands in automobile sector

in India, are not yielding satisfactory sales.

Results :
(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A)is false (R) is true

(D) (A)is true (R) is false

Assertion (A) : Modern marketing
departments can be organized in a number
of different, some times, overlapping, ways
such as Matrix, Functional, Geographical

and so on.

Reasoning (R) : Mc Donald’s is most

suited for matrix kind of organisation.
(A) Both (A) and (R) are true
(B) (A) is true (R) is false
(C) (A)is false (R) is true

(D) Both (A) and (R) are false
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36. Assertion (A) : Marketing control is the
process by which firms assess the effect of
their marketing activities and programmes
and make necessary changes and
adjustments.

Reasoning (R) : Strategic control is the
only tool that holds control on over all
marketing.

(A) (A)istrue (R) is false

(B) (A)is false (R) is true

(C) Both (A) and (R) are false
(D) Both (A) and (R) are true

37. Match the Stages of Product Life Cycle
featuring on sales and profit of a firm :

Stages of PLC Sales and Profit

[) Introduction a) Increased sales
and substantial

profitimprovement

[) Growth b) Slow sales and
non-existence of
downward drift in
sales profit

lIl) Maturity c) Profits erode

IV) Decline d) Slow down sales
growth and profit
stabilized/decline

Code
I | ] v

(A) a b d C

B) c b a d

C b a d c

(D) d C a b

Total Number of Pages : 32

38. One of the most popular approaches to
corporate level strategy has been
corporate portfolio matrix, developed by
the Boston Consulting Group in the early
1970’s. The matrix defines business
groups, indicate the degree of growth and
market share. They need to be matched :

Business Group Growth and Market Share
1) Cash cows a) Low growth, high

market share
2) Stars b) Low growth, low
market share
3) Question c¢) High growth, high
marks market share
4) Dogs d) High growth, low
market share
Code :
1 2 3 4
(A) c d a b
B) d a b C
C b c d a
(D) a C d b

39. Types of advertisement and objectives
corresponding to them are required to

be matched :
Type Objective
1) Informative  a) to create liking,
advertising preference, conviction
and purchase of a
product
2) Persuading b) to convince current
advertising purchases that they
made right choice
3) Reminder c) to create brand
advertising awareness and
knowledge of new
product
4) Reinforcement d) to stimulate repeat
advertising purchase of product
Code :
1 2 3 4
(A) c a d b
B) d b C a
(C) a b c d
(D) b C a d
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Directions : Read the para given below and
answer the Question Number 40 and 41.

Marketing implementation is the process that
turns marketing plans into action assignment
and ensures they accomplish the plans stated
objectives. Strategy addresses the what and
why of marketing activities, implementation
addresses the who, where, when and how.
They are closely related one layer of strategy
and implies certain tactical implementation
assignment at lower level.

40. Marketing plans are turned into action
assignments process.

(A) Marketing implementation

(B) Management implementation
(C) Market implementation
(D)

D) Strategy implementation

41. What and why of marketing activities are
addressed by ?

(A) Stratification
(B) Synergy

(C) Strategy

(D) Synchronization

42. The Bond yield plus risk premium
approach is a method of finding out the
cost of

(A) Preference capital
(B) Equity capital

(C) Debenture capital
(

D) Term Loans

K-1014
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43. Accounting rate of return is the rates of
average values of

(A) Profit before tax to book value of
investment

(B) Profit after tax to salvage value of
investment

(C) Profit after tax to present value of
the investment

(D) Profit after tax to average book
value of investment

44. Which of the following ratios is not
affected by the financial structure and
the tax rate of a Company ?

(A) Return on equity
(B)
(C)
(D)

D) Earning per share

Net profit margin
Earning power

45. The best estimate of the intrinsic value
of an asset is its

(A) Net asset value
(B) Economic value
(C) Market value

(D) Replacement value

46. Which of the following will not have any
impact on the cost of project ?

(A) Increase in the expected cost of
land

(B) Decrease in margin money
requirement

(C) Increase in excise duty on the items
to be produced

(D) Decrease in import duty of
machinery
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47. In a world with Corporate taxes but no
possibility of financial distress, the
value of the firm is maximized when

(A) Firm uses no debt in capital
structure

(B) Firm uses no equity in its capital
structure

(C) Firm uses a debt equity rate of 1.0

(D) Corporate tax rate approaches
100%

48. In calculating the proportional amount of
equity financing employed by a firm, we
should use

(A) The common stock equity account
on the firms balance sheet

(B) The sum of common stock and
preferred stock of the balance sheet

(C) The book value of the firm

(D) The current market price per share

of common stock times the number
of shares outstanding

49. Which of the following illustrates the use
of a hedging approach to financing assets ?

(A) Temporary current assets financed
with long term liabilities

(B) Permanent working capital
financed with long term liabilities

(C) Short term assets financed with
equity

(D) All assets financed with a mixture
of 50% equity and 50% long term
debt

K-1014
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50. Which of the following would be
consistent with an aggressive approach
to financing working capital ?

(A) Financing short term needs with
short term funds

(B) Financing permanent inventory
build up with long term debt

(C) Financing seasonal need with short
term funds

(D) Financing some long-term needs
with short-term funds

51. Assertion (A) : ROl is the index to study
management efficiency.
Reasoning (R) : Earning power in relation
to total investment is measured by ROI.
(A) Both (A) and (R) are individually true
and (R) is the correct explanation
of (A)
(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

52. Assertion (A) : High capital gearing
leads to greater speculation.
Reasoning (R) : Proportion of equity share
capital in return to sum of the other security
of small capitalization being highly geared.

(A) Both (A) and (R) are individually true
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true
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53. Assertion (A) : According to net income
approach the cost of equity and debt
increases as the degree of leverage
increases.

Reasoning (R) : While according to the
net operating income approach, the cost
of equity and debt remains constant
irrespective of the degree of leverage.

) Both (A) and (R) are true
B) Both (A) and (R) are false

C) (A)istrue and (R) is false

(A

(

(C)

(D) (A) is false and (R) is true

54. Assertion (A) : Jensen index is actually
the difference between the expected rate
of return on the portfolio and what is
expected return of the portfolio if it were

positioned on the security market line.

Reasoning (R): A positive Jensen index
indicates good performance and a
position above the security market line.

(A) Both (A) and (R) are individually true
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually
true but (R) is not the correct
explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true
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55. Which of the following are considered
weakness in the average accounting rate
of return method of project analysis ?

i) Exclusion of time value of money
considerations
i) Need of a cut of rate

iii) Easily obtainable information for
computation

iv) Based on accounting values
(A) ii and iii

(B) ionly

(C) iand iv

(D) i, ii and iv only

56. Which of the following would be

considered as use of funds ?

i) An increase in receivables
ii) An increase in payables
iii) An increase in inventory
iv) An increase in sales
A) iandii only
B) i and iv only
C) i andiii only
D) ii and iv only

(
(
(
(

57. Which of the following correctly
describes a dealer market ?

i) Dealers match buyers with sellers

ii) Dealers buy and sell for themselves
at their own risk

iii) Dealers trading occur over the
counter

iv) Dealers transaction occur on a

trading floor
A) iand iv only
B) i and iii only
C) ii and iii only
D) i, ii and iii only

(
(
(
(
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58. Which of the following assumptions is/ | 60. Match the following :
are unique of Capital Asset Pricing Model List-1 List-2
?
Theory (APT) b) Public issue  2) Assets
i) A single period time horizon of capital Management
ii) Absence of taxes Company
iii) Investors are risk averse c) Forward trading 3) Merchant banking
iv) Perfect capital market and absence d) Option pricing 4) Forex market
of transaction cost Codes :
(A) i, i and iii only a b ¢ d
: . (A) 2 3 1 4
(B) iandii only
) B) 2 3 4 1
(C) ii and iii only C) 3 5 4 1
(D) i, ii and iv only (D) 3 2 1 4
59. Match the following : 61. The term tariff, as used in international
. . trade refers to
List-1 List-2
(A) A Government payment to
a) Covered 1) Long put + encourage exports
call sale Short call (B) Ataxonimports
b) Covered 2) Long call + (C) The price o.fgoods when they leave
the producing country
put sale Short put . ,
(D) A limit on the quantity of a good that
c) Synthetic 3) Short call + can be imported into a country
long futures Long futures
J 9 62. Which organization of the World Bank
d) Synthetic 4) Short put + group deals with matters related to the
short futures Short futures development of the poorest countries in
the world ?
Code : (A) The International Bank for
a b c Reconstruction and Development
(A) 1 2 3 (B) The International Development
B) 3 4 5 ’ Association
(C) The International Finance
c 1 3 2 4 Corporation
(D) 3 2 4 1 (D) The Multilateral Investment Agency
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63. Which of the following policies consist

of trade policy ?

i) Export policy
if) Import policy

iii) Technology
iv) Industrial policy

)
)
)
)
A) iandii
)
)
)

(

(B) i, ii and iii
(C) i,iiand iv
(D) i, ii, iii and iv

64. Which of the following conditions can be
constraint to achieve the economies of

scale globally ?

i) Markets across the globe demand

the same kind of product

i) Every market needs customized

product to meet its requirements

iii) The same product with slight
variations is demanded by different

markets

iv) Overseas production of the goods

may be stimulated
(A) iandiv
(B) iandii
(C) ii and iii
(D) i, ii and iii
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65. Tornado (An American Cellular Phone
Manufacturer) wants to establish on
manufacturing plant in India to cater
specifically to the Indian market. Which
of the following factors would Tornado
consider while deciding on the location
of the plant in India ?

i) Level of demand for the product

ii) Availability of cost-effective labour

iii) Infrastructure availability

iv) Export policy

A) i, ii and iii
)
)
)

(
(B) i and iii
(C) iii and iv
(D) i, iii and iv
66. is the payment method most

often used in International trade which offers
the exporter best assurance of being paid
for the products sold Internationally.

(A) Bill of Lading
(B) Letter of credit
(C) Open account
(D) Drafts

67. is a group of nations organized
to work towards common goals in the
regulation of International trade.

(A) A global firm

(B) A joint venture

(C) An economic community

(D) A standardized marketing mix

68. Which is the trade organization that has
been established to negotiate trade
concession among member countries ?

(A) ITO
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(A) Euro bond
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69. Assertion (A): The goal of GATT was to
achieve through multilateral negotiations
settling of all trade disputes.

Reasoning (R) : GATT has been set up
to reduce the trade restrictions put up by
individual nations.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) Only (A) is true and (R) is false
(D) (A) is false and (R) is true

70. A good international marketing strategy
which would motivate the target customer
to take purchasing decision on the
product in a marketing situation involves

the following steps :

i) Awareness
ii) Knowledge
iii) Intention
v) Satisfaction
(A

(C) i, iii, ivand v

i, ii, iii and iv

)
)
)

iv) Action
)
) (B) i, iii, ivand v
)

(D) iii, iv and v

71. If a country is having more exports than
imports in value terms, it can be said that
the country is having

(A) Deficit under BOP (Balance of
Payment)

(B) Deficit under BOT (Balance of
Trade)

(C) Surplus under BOT
(D) Surplus under BOP
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72. Which of the following is not an objective
of Regional Trade Agreement (RTAs) ?

(A) Ensure Economic growth of
members

(B) Increase foreign capital outflow

(C) Increase foreign relations with
other countries

(D) Create economic and diplomatic
trade block

73. OECD stands for

(A) Organization for Economic
Coordination and Discussion

(B) Organization for Environmental
Cooperation and Discussion

(C) Organization for Economic
Cooperation and Development

(D) Organization for Environmental
Coordination and Discussion

74. is the first step in the typical
Internationalization process.

(A) FDI

(B) Sales subsidiary

(C) Export through distribution
(D) Licensing

75. In international bond market, the bonds
which are sold outside of the borrower’s
country but are denominated in the
currency of the country of issue are called
as

(A) Euro bond
(C) Foreign bond

(B) India bond
(D) Global bond
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